Multiplication et Division par 10 (I)

Trouvez chaque produit ou quotient.

2,63 x10 = 9,5111 - 10 =
3,387 ~ 10 = 4,212 + 10 =
7,4+ 10 = 4,7378 - 10 =
3,1893 x 10 = 4,007 +-10=
3,8+10= 3,4 %X 10 =
6,99 - 10 = 489 + 10 =
7,1579 - 10 = 9,97 x 10 =
52+10= 7,96 ~ 10 =
525+10= 6,03 X 10 =
3,7+ 10 = 1,21 x10 =
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Multiplication et Division par 10 (I) Solutions

Trouvez chaque produit ou quotient.

2,63 xX10=126,3 9,5111 +10=0,95111
3,387 +10 = 10,3387 4,212 +10=0,4212
7,4+10=0,74 47378 +-10=10,47378
3,1893 x 10 = 31,893 4,007 - 10 =0,4007
3,8+10=0,38 3,4 x10 =34

6,99 +~ 10 = 0,699 4,89 +-10=0,489
7,1579 +-10=0,71579 9,97 x 10 =99,7
52-+10=0,52 7,96 ~10=0,796
525-+10=0,525 6,03 X 10 = 60,3
3,7+10=0,37 1,21 x10=12,1
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